12"-1" | DN15-DN25 | ANSI CLASS 150/300

Control Flanged Floating Ball

Valve dimensions

2 Ball port

Preparation
for actuation

7 31
without nut with nut

Stem flats
show valve
ball position

TxL thread <N thread

On F Pcd

Ball A b L Weight kg/lb
port | 150 150 300
DIEERS mm | 1430 10800 14000 4700 3140 4050 8900 9500 554 1110 (FO3) | 36.00 1.80 230
38" UNF M5x10
" inch 056 425 5.51 1.85 1.24 1.59 350 374 022 044 142 4.00 5.10
OOPLES mm 2060 11700 15200 5700 3820 5560 9800 11700 754 1540 (FO4) = 42.00 220 3.30
716" UNF M5x10
3/a" inch 0381 461 598 224 150 219 386 461 0.30 061 1.65 4.80 7.30
DI\PEES mm | 2540 12700 165.00 6200 4270 6030 10800 12400  7.54 746" UNF 1540 (FO4) = 42.00 M5x10 320 4.60
16 X
1” inch 100 500 650 244 168 237 425 483 030 061 1.65 700 10.10

240 | FBDHABONIM | CONTROL VALVES




e

12"-1" | DN15-DN25 | ANSI CLASS 150/300

Control Flanged Floating Ball

Valve dimensions

V-Ball
back view

Material specification

Material specification A Item

Item | Description Description

1 Body Acc. Ordering Code 1 (0.8 Slide bearing S. Steel 1
2 Insert Acc. Ordering Code 1 1l Disc spring S. Steel 2
3 V-Ball Acc. Ordering Code 1 P2 Stem nut S. Steel 1
4 Stem Acc. Ordering Code 1 1fe3 = Locking clip S. Steel 1
Sl Seat Acc. Ordering Code 2 153 Serrated washer S, Steel 1
3 Body seal PTFE 1 ({9 Handle nut S. Steel 1
A% Outer seal Acc. Ordering Code 1 P[0 Anti-static spring  S. Steel 1
74 Stem thrust seal | CF PEEK, PCTFE, CF PTFE 1 vAl Anti-static plunger | S. Steel 1
7£%  Anti-abrasion ring | CF PEEK, PCTFE, CF PTFE 1 ¥ Arrow Flow S. Steel 1
R Stem seal CF PTFE, TFM 1 vEf S Tag (not shown) S, Steel 1
([0 Follower S. Steel 1 * Standard items supplied in repair kits

CONTROLVALVES | (EDHABONIM | 241




14"-2" | DN40-DN50 | ANSI CLASS 150/300

Control Flanged Floating Ball

Valve dimensions

D
| 1
-— - 2 Ball port
|
|
T
|
| Preparation
B | for actuation
A .
N__
2" 14"
without nut with nut
oW - -
) Stem flats
M & show valve
: ball position
-
<N thread

A TxL thread —
On F Pcd
A Weight kg/lb
Ball D TxL Gl

port | 150 | 300 | 150 | 300 150 300

DN15 mm | 3810 165.00| 19000 97.00 110.00 4830| 77.80 12700/ 156.00 8.71 8.50 (FO5)| 50.00 6.60 10
%6" UNF M6x12

1" inch 1.50 6.50 7.50 382 433 1.90 3.06 5.00 6.14 0.34 033 197 14.50 22

DIETS mm - 5000 17800 216.00 1 109.00 141.00  70.00| 88.00 15200/ 16500| 871 et UNF 13.50 |(FO7)  70.00 Viax12 13.00 15
16 X

2" inch 200 700, 850 429, 555| 275, 346 598| 650 034 0.53 2.76 28.60 33

242 | FBDHABONIM | CONTROL VALVES




i I

14"-2" | DN40-DN50 | ANSI CLASS 150/300

Control Flanged Floating Ball

Valve dimensions

Item | Description Material specification A Item | Description Material specification

Body Acc. Ordering Code 1 (K Disc spring S. Steel 2
End Acc. Ordering Code 1 (P Stem nut S. Steel 1
V-Ball Acc. Ordering Code 1 13 Locking clip S. Steel 1
Stem Acc. Ordering Code 1 1[5 Handle nut S. Steel 1
Seat Acc. Ordering Code 2 (I Studs S. Steel 4
Bodly seal PTFE 1 22 Body nuts S. Steel 4
Outer seal Acc. Ordering Code 1 PJ) Anti-static spring | S. Steel 1
Stem thrust seal | CF PEEK, PCTFE, CF PTFE 1 A Anti-static plunger | S. Steel 1
Anti-abrasion ring | CF PEEK, PCTFE, CF PTFE 1 22 Arrow flow S. Steel 1
Stem seal CF PTFE, TFM 1 vEf Tag (not shown) S, Steel 1
Follower S. Steel 1 * Standard items supplied in repair kits
(WE1 Slide bearing S. Steel 1

CONTROLVALVES | (EDHABONIM | 243




3"-8" | DN80-DN200 | ANSI CLASS 150/300

Control Flanged Floating Ball

Valve dimensions

D
C
@ Ball port
Preparation
for actuation
PN
N
\\ Y
H
oW —— H++ -+ - 14— Stem groove
shows valve
h Q.. M ball position -
H
T(E
N thread - N thread -
TxL thread
OnF Pod DD Square
Ball A B
port| 150 | 300 | 150 | 300
DIEN mm | 8000 20300 28300 12600 185.00 | 10800 | 15460 19480 400.00 19100 21000 1890 1590 1v.14 = 1670| 22.70 (F10) 10200 100 % 29
X
3" inch | 325 800 1114 49 728 425 608 767 1575 752 827 074 063 UNF2A 066 089 402 57 | 64
IEIIE mm 110000 229.00 305.00 144,00 20000 [124.00 170.60 211.00 610.00 230.00 25400 1890 1590 1v.14 | 1670| 22.70 (F10) 10200 100 34 39
X.
4 inch 394 900 1201 567 787 488 671 831 2400 906 1000 074 063 UNF2A| 066 089 402 75 86
DIEOR mm 15000 39400 403.00 230.00 229.00 17900 24850 308.00 916.00 32800 328.00 2845 | 23.75| 114"-17 | 2620 3520 |(F12)] 12500 10 71 78
X.
6" inch 591 1551 1587 906 902 705 978 1212 3600 1291 1291 112 094 UNFIA| 103 139 492 15 | 172
DIPIE mm 20000 45720 40350 | 21500 261.00 2410035370 - - 145000 450003592 3592 1g | 3750 4650 (F14) 14000 160 19 225
X.
8" inch 787 1800 1580 846 1028 949 1393 - - 7720 172 14 141 UN2A T 1480 183 551 419 | 4%

244 | FBDHABONIM | CONTROL VALVES




3"-8" | DN80-DN200 | ANSI CLASS 150/300

Control Flanged Floating Ball

Valve dimensions

Item | Description

Body

Material specification

Acc. Ordering Code

End

Acc. Ordering Code

V-Ball

Acc. Ordering Code

Stem

Acc. Ordering Code

Seat

Acc. Ordering Code

Bodly seal

PTFE

Quter seal

Acc. Ordering Code

Stem thrust seal

CF PEEK, PCTFE, CF PTFE

Anti-abrasion ring

CF PEEK, PCTFE, CF PTFE

Stem seal

CF PTFE, TFM

Follower

S. Steel

S RS N NG T P I ) BN

Item

10A

Description

Material specification

11

12

13

18

20

21

22

23

Slide bearing S. Steel 1
Disc spring S. Steel 2
Stem nut S. Steel 1
Tab lock washer | S. Steel 1
Bolt S. Steel 8-12
Anti-static spring | S. Steel 1
Anti-static plunger  S. Steel 1
Arrow flow S. Steel 1
Tag (not shown)  S. Steel 1

* Standard items supplied in repair kits

CONTROLVALVES | (EDHABONIM | 245




i I

Control Flanged Floating Ball - Ordering Code System

"Mandatory option" options are marked with |gréenbackground | "Standard offer" options are marked with light green background

10 11 12 13 14 15 16 17 181920 21222324 .. 28 29 30
/

9
wl-leflellelle][ A | T][G] [1-[sllofle] - [ ]

T
N D N N _

./
M Body/end materialsjill Ball/Stem material [l Seat material Jill Inner Seal lllOuter Seal End Connection Control Feature Special features

|

Size (1-2)

Series (7-8)
ANSI #150 std. port

Stem material (14) End connections (19-22)

High Strength S. Steel Flanged

inch

M
ANSI #300 std. port ) S. Steel316L ASME B16.5 #150 RF
ANSI #150 full port 74~ Inconel 718 B637 ASME B16.5 #300 RF
ANSI #300 full port '8 Alloy-C22 B574 EN1092 PN16 RF
DIN PN 16 full port L1 254SMO A479 EN1092 PN40 RF
DIN PN 40 full port .\ Alloy-20 A351 CN7M Control Feature (24-28)
Design (9) 1 Duplex A479 -
g(;tcal!al-éirmeth [T 5 i:;?erlDuplex har ?,imm i:ot on jovvnstream seat
i i .6mm Slot on downstream seat
I)g?lla%eertnftt)%gﬁ%rlgnt [R] Sl Hasteloy €276 3.2mm Slot on downstream seat
Seat material (15) V30° Shape on downstream seat
- Per base series CFPTFE V60° Shape on downstream seat
*31/32 series only . CF PEEK o
Ball material (13) [R] V90" Shape on downstream seat
RS EA) 3 5. SteelCFaM/CF3M TV *Upto 1"
|\ High Strength S. Steel Inner Seal material (16) [R]
Fire safe 8 Hasteloy-C22 Per base series 0.8mm Slot on ball
Clean assembly
for 02 service 5 254SMO 458 1.6mm Slot on ball
Cryogenic [R] B Duplex Per base series 3.2mm Slot on ball
High Temp. (MTM) [R] & Super Duplex \/:E00 V30° Shape on ball
Hydrogen Service 74| Monel V60° Shape on ball
'\ Alloy-20 V90° Shape on ball
@ Hasteloy-C276 *Upto 1"

Ball/Down stream
Seat Surface hardering
Low Temperature Plasma
carboNitriding (Standard)

* standard up to 2"

Hardening
Cr3C2 - Chromium Carbide with
Nickel Chrome binder -

HVOF technique

WC-Co - Tungsten Carbide with
Cobalt binder - HVOF technique
* standared from 2-%2" and up

Special Features (24-30) [R]

\ Per base series \

[RI:
« For Cryogenic CNxx valve see options in Cryogenic chapter.
- For High Temp. (MTM) ZNxx valve see options in High Tem. (MTM) chapter.

252 | FBDHABONIM | CONTROL VALVES




